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v Q1. One card is drawn from a pack of 52 cards. The probability that 1/1

itis a king or a spade is *
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(® option3
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(O option 2
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(O option 4



v Q2. An urn contains 9 balls, two of which are red, three are blue 1/
and four black. Three balls are drawn at random. The probability
that they are of the same colour is *
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84 0
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v Q3. Select the correct options * 2/2

P(AnB)=P(B)-P(ANB) P(ANB)=P(A)+P(ANB)
Option 1 N [] option2
P(Inﬁ):l—P(AuB) P(Iuﬁ):l—P(AuB)
Option 3 v [] option 4

v Q4. The probabilities of three mutually exclusive events A,Band C 11
are given by 2/3, 1/4 and 1/6 respectively. The statement *

O is true
@) isfalse v

(O nothing can be said

O could be either



This form was created inside of Sanskriti School.

Google Forms


https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

